


�ŠÑ]Šb‰�XZy~ÐÜsZq-9c*oƒ eeeegggg qgzfsÎZÑ]&**åÒ**]~ÐCÙZq-Æa .I

8 × 1 = 8 F,+ìX9�Šw»ZN[™,Zzgws{Æ‚Bå�Z[sX

¥x< n ( A ) ŠØ‰z+{�~ .1

1 (B) 3 (A)

2 (D) 5 (C)

ñ¡~Z°ZŠ»ù·Hƒ@*ì? n Z’Zð .2

n ( n + 2 ) (B) n ( n + 1 ) (A)

(D) (C)

(Pair) �XZq-Ñ̂ZzgZq-Ã^»�h (Coats) Ã^ 2 Zzg (Shirts) ÑF 3 Zq-±ÆÆ0*k .3

¯™z{ÄZ§hVÐXYìX

18 (B) 3 (A)

5 (D) 6 (C)
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»ªCÙƒ**Šzu}z̧·ÆªCÙƒäÃ{g`™ŠêìÂz{z̧·ƒ@*ì (Event) Zq-"&Áõ GNŠ"~Zq-z̧· .4

&À.5Ïî
G

Gz̧· (A)

Dz̧· (B)

!*ë)̃àz̧· (C)

!*ë̃àz̧· (D)

Ð„HY@*ìÂ!*¹Hƒ@*ì?  ( x - 2 ) Ã p ( x ) = x 2- x + 1 M¥0 .5

3 (B) 2 (A)

1 (D) 0 (C)

»Ã,Hƒ@*ì? ( p, q ) ÐË` (Origin) JP .6

(A)

(B)

(C)

(D)
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ƒ? 5
!©‹šð
G

{ -y Zzg 3 (Slope) Zq-âÅ)zZ]HƒCìTÅeyy .7

5y = 3x + 5 (B) 3y = 5x + 3 (A)

y = 3x + 5 (D) y = 3x - 5 (C)

Û¢gppzZá°æN{»gKƒ@*ì 7 cm .8

616 cm2 (B) 88 cm2 (A)

308 cm2 (D) 661 cm2 (C)

6 × 1 = 6 Šg`fsÎZÑ]i<: .II

¥x<X (HCF) »¬›ZWœu 21 Zzg 14 .9

Zzg£g~Z�Zs  Zzg 60 mean ™–qV~Zq-îh~Ð¯ñ‰gâV»Zz‰ 15 .10

¥x<X (C.V) ìÔgâVÅp5+k,~»°Š~u 15 (SD) 

»ŠgzsX f ( x )  =  x 2  - 3x 3  + 2 M¥0 .11

£ë�? (Congruent Circles) ˜zŠZ],} .12
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Å7sX cosec θ  ƒÂ Z¤/ .13

¥x™ä»Ÿ‚sX (Total surface Area) ‡ìæzgZ2Z:ÅÀR»gK .14

ƒÂU*"$< A = { 1,  4 },  B = { 1,  3 } Zzg U = { 0,  1,  2,  3,  4 } Z¤/ .15 .III

2 ( A ∪ B )/ =  A/ ∩ B/

ŠØ‰Ÿ»ù·¥x< .16

2 3 + 7 + 11 + .......... Zg»yJ- 10

ŠgzwZg]gppzZá0*ãÅZq-ºmlZgÃ!h4¨ÿ NGG
Š!*ƒ6,¤/xHY@*ìXtŠ¬ŠH�0*ãÆŠgz 24°C .17

J-(,JäÆnHz‰Ü 100°C »ZŸ†ƒ@*Y@*ìX0*ã»ŠgzwZg] 4°C wZg]~°4

2 4ì?Ÿ‚ÅæŠÐ¥x<X

2 Zq-)ëw°ŠìX U*"$<� .18

2 Å7¥x<X n ƒÂ Z¤/ .19

» 3 Šg`�XZz6,~¥pV6,ñ°Šc* 6 Ð 1 Zq-%û²ŠHTÆ¥pV6, (Dice) Zq-0*³ .20

2 ªCÙƒä»Sky¥x<X (Multiple) pµ
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2 ˜zZÞZ°ZŠZzg)̃zZÞZ°ZŠ£ë�? .21

2 ©')é ENÃëw¯Dƒñ¿<: .22

Ð„HY@*ìÂ{g•ë g ( x ) = ( x - 3 )Ã f ( x )  = Z# .23

2 F,0Ì„ÆZEwÐ¥x<X (Remainder) Zzg!*¹ (Quotient) 

cccc****

¥x<X (Zeros) Æ# p ( x )  = M¥0

2 Ÿ‚ÆZEwÐi<: .24

‚|#<XŠZ],}Æ%œ/ÐzF,» (Chord) Mð»Zq-zF, 6 cm Û¢ÆŠZ],}~ 5 cm .25

2 Ã,**\™sX

AB Zzg CD ƒÂ AD = 4 cm Zzg BD = 8 cm ìXZ¤/ BD ⊥ AC Zzg = 90°~ ABC .26

2 ¥x<:

cccc****

81-U 6 CCE RF & RR 

RF & RR - 414



XYCB ƒÂ!-?ç NEs 10 cm2 »gK ∆ AXY ìXZ¤/ XY = BC Zzg XY || BC ~ ∆ ABC

»gK¥x<X

2 cot θ . cos θ  + sin θ  = cosec θ  U*"$<: .27

¯@*ìXqÝ”{âÅ (Graph) Zq-¤̈DZzxÆç6,Š/™Dƒ}Šg`fsGzŸ]ÅF,® .28

2 ¥x<: (Slope) eyy

X-axis  I 1 2 3 4

Y-axis  V 2 4 6 8
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¯�: (Plan) Šg`fsGzŸ]Ð{�&u .29

[ 20 m = 1 cm : e:  ]

¢a~  Ã C

J-  D 50

 

J-  E 30

140

100

60

 40

J- B 40 

Ð A

2

~ÐZq-¤̈D&µVÅ‚¡I™@*ìX (Companies) µV 8 »¯äzZà .30

2 ‚¡yh+äÆnz{¤̈‘Ðê LµV»ZN[Ä§hVÐ™Yì?

ìXyÎ~£°¥x 112 ZzgZŒ&Zg»y»ù· 14 Zq-yÎ~£°Æ¬&Zg»y»ù· .31 .IV

3 <X

cccc****

»;gñã b Zzg a  ìÂU*"$<� 'b' »yÎ~Zz‰ a Zzg c ìÔ 'a' »ˆ!Zz‰ c Zzg b Z¤/

ƒ@*ìX 'c' Zz‰

~qÝG‰�Z] (Test) Æ± (Mathematics) ¥Ðgc*è 30 )®)ŠëÆ .32

3 ¥x<: (Variance) Šg`fsŠñ‰�X�Z]Åp5+k,~ (Marks)

Marks (x) �Z] 4 8 10 12 16

(f ) ¥Å®ZŠ 13 6 4 3 4
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ƒVÂŠg`fsÅ7¥x<: q Zzg p Æ_.g Z¤/)zZ] .33

3        

cccc****

gz9~�Ûz|#™@*ìÂQkÃ—Å7yh+Æ‚Æ)z~vyƒ@*ìX 16 Zq-@*̀Ë—Ã

—Å7yh+¥x<X

U*"$<�LLZ#ŠzŠZ],}Zq-Šzu}ÃÛzãîg6,!øM™D�ÂQyÆ%Zœ/Zzg̀Ókëâ .34

3 ƒD�Xóó (Collinear)

cot ƒÂU*"$< (Acute) iZztqœ{  θ ƒZzg 7 sin 2 θ  + 3 cos 2 θ  = 4 Z¤/ .35

3

cccc****

ƒ@*ìX˜iQ| 30° (Angle of elevation) ûZgyZyÆË`ÐZq-ƒZð˜i»ùŠ~iZzt

ƒ@*ìXZ¤/˜iÅ—~ 60° ]ÆˆyZyÆQÏ`ÐùŠ~iZzt 24 R~w•™g;ìX

¢aƒÂQkÅgëg¥x<X i}Ð
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)z~Û¢gppzZáZ2Z:Zzg%zoá™%zoÃZ2Z:ÆZz6,�hDƒñZq-̂kŸqÝHŠHX .36

ƒÂk̂Ÿ»w 30 cm ƒZzĝkŸÅ®ÿ N
—~  9 cm Zzg—~ 7 cm %zo»‡°z~Û¢

3 ¥x<X

cccc****

 Zzg 18 cm ZzgQkÆŠZ],zV‡°zV»” 4 cm Åâb—~ (Frustum) Zq-%zo!©‹ð G·

ƒÂ%z¹!©‹ð G·»âbÒgK¥x<X 6 cm 

4 F,®Æfg=)zZ]i<: .37 .V

8ûEL˜k‚|#XÆ (direct) Û¢ÆŠzŠZ],zVÃZq-gZ„œ� 2 cm Zzg 4 cm .38

4 Šzg~6,ƒVX8ûEL˜kÅMð**\™sX 9 cm %Zœ/

4 Òy<ZzgU*"$<X (Thale's theorem) &45é ENEGŠ~XpÐƒ .39
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¢aÅZz™ðÐIÒìXŠg|#»Zz6,~uZQkÆ 6 ƒZÆizgÐi}6,ÀŠUñ�ŠŠg|#ZLŠxÐ .40

¢aÅŠzg~6,¤/@*ìX¤/äÐ¬Šg|#ÆZz6,~u}ZzgIUÆ£x»ŠgxãÃ,¥x 8 ŠxÐ

<X2IUÐ¬Šg|#ÆZz6,~u}Zzg)¤/äÆˆ(i}6,¤/}ƒ}Zz6,~u}ÆŠgxã

4 Ã,¥x<X

cccc****

ƒÂU*"$<  BD  :  CD  =  3  :  1 ÀŠ5ŠHXZ¤/ AD 6,BC ~ ∆ ABC
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